53 30 EHEL—IF 2RBIVINAERFEAR BER

—H%BEF —ARZT 55 ESBF
B | B0 XF (REFRER) oA g (ZEFREK) EEP & (TTTROR)
R 58 Bt (BER) =tE ek ULIN—-hTC) —/ME A@ (TCTROR)
" R BAKX OLN=hTC) AtE AEF (SESK) FH I— (TCTTROR)

aR ER (ZESK)

BAl (38 (FR7NE)

R F— (L—=>R=)b)

—fixSE T




—BEFUTILA

No. I R v—F 1R 2R 3R QF SF F SF QF 3R 2R 1R

1 8K BX LA—RTC @ - e 33 RNERFE £I%RB

2 bye e 6-0 Y S 34 bye

3 AE TE et . s [ 3 B KK RBUMLTa=T
4 AT ¥ BRBETC — 0 1 . L B WK RE KEBH
5 BR #X ERBETC — o 62 g [ 37 WA B&  s@RyEsk
6 RE L#  SEPESE 0 o | B ik B KAIDa=7
7 B0 & 3t . | 2w 9 WF KB SEFESK
5 i ED ETETC — 1 i 2 b 0 m =% T RO%
o e R KEPESR —_ o o0 g [ 4 KR A £2RB
0 HES S e HEL a | 5o 2 OBED REPESR
o B HE e . o, M 13 B R ERBETC
12 @ M8 £i%2RB wo . .8 62 44 #t M SRIEBR
13 EE E TISFROE — o2 o 6 [ 5 WR EX ELETC
B BA REFESR SRR o |0 mE - e
15 RE BH SEREESR w6 | o A L B a7 bye

16 W B JLIN—FT.C — . " —— 4 %5 A% ETR
7 MR k¥ SRYEER — o o w [ 4 B R HEES
18 bye e ‘ . w | &0 0 RE K SEBEH
o HE A% SERPESsKR 0 o |0 T, 5 BB AN JLIS—FTC
20  HH A £3%RB — 3 . 4 0 b 52 Al BB REFESK
20 EE £#RB e 2 o8 50 s [ 8 BR &M HRBETC
2 B HEM KEBEH — i | &0 54 H R KEPEEK
22 R ER  sREEER u | 5 A 55 B RE  SEPEASK
24 HFE RIC Space 6-0 17 57 61 56 M fER JLIN—FT.C
25 HIl B—  TISTROR —_ o2 o o [—— 5 BR ZR SRER
6 k@ #HE  sEeEEK SR o | P e 58 B W2 71—
27 ZB & e e 1 B 59 % K e L RSt
28 EH 2 EETC —_ 57 5 . 50 L—— 0 1 R JLIN—FT.C
20 % BR  EPEEK 0 % o o2 6 [ 60 BK 8B REBH
N KR —H 27%RB — e o T — e mm e BEC

31 bye e 6-4 11 63 bye

32 v WIN—FTC @) = e 64 mE Bt =#RB



—BEZFUTILA

NO
1

oo

10

11

12

13

14

15

16

EFA
£ EN

w4 X
=]

e

bye
=il
aiE ¥
Ei N
B

3
mH

e
of Kb W &

5w

At+E BfEF

el SEER
bye
B X
o &%
g @Bk

A HAE  EER

bye

= U&EH LIN—FKT.C @

H> o Di
2t
+H

A
i}

¥

o}

N

o

Wy

1

6 — 1
1
6—4

8

6— 1

11

6—4
16
6—0

16

6— 1




SSFULBFL TR

<AJowvsos>
EF i 1 2 3 BEEL | EREE | JEfRL
TEER B (TIZTTRDR) 6—4 7—5 | 2—0 1
2 A £ (L—2hR—J) | 4—6 3—6 | 0—2 3
3 F@H — (TIZFRD=x) | 5—7 6—3 1—1 2
HEIEF 1—2 2—3 1-3
<BJow4s>
EF i@ 1 2 3 BEEL | EREE | JEAL
— /AR (TIZTTRDR) 6—0 6—0 | 2—0o0 1
2 R F— (Li—2R—)L) 0—6 6—4 1—1 2
3 N3 Fif (TIZTFRD=) | 0—6 4—6 0—2 3
HREIEF 1—2 2—3 1-3
REER—F A+
A4z JEER B TIZTFRDE
A4z
6—4
B14i — /1 AR TIZTFRDE
A2{sz F@H — TIZTFRDE
6—3
B2{iz " ¥ L—2R—)L
A3{3z A EE L—2R—)L
6—3
B34z N3 Fif TIZTRDE




